Комплект заданий
LISTENING
Time: 20 minutes

Task 1. You will hear a radio weather forecast. First, read through the notes below. As you listen, check if the notes describe the forecast accurately. Correct ONLY the wrong notes. You will only need to change ONE WORD or NUMBER in each case. 
WEATHER FORECAST
 Northern region
1 snow expected in the evening 
2 light winds throughout the day 
3 some trains cancelled after 10 p.m. 
Southern region
 4 light rain throughout the day
 5 temperatures between 10°C and 12°C
6 cold wind blowing from the east
Task 2. First read sentences 7-13 below. You are going to hear part of a radio programme. Decide which of the sentences are true (T), and which are false (F), according to the recording. 
7 Some people in the outback live over 100 kilometres away from their nearest neighbours. T / F 
8 Everybody in the outback has at least a telephone to keep in touch with the world. T / F 
9 In an emergency, doctors use jeeps to get to the patient. T / F 
10 It doesn't take the doctors more than ninety minutes to get to any place in the outback. T / F 
11 There are only thirteen doctors for 150,000 people. T / F 
12 Children living in the outback do not go to school at all. T / F 
13 The children in the outback can communicate with their teachers by two way radio and post. T / F
READING
Time: 30 minutes

Task 1. Read this short article about British and American families. Choose the best phrase from A-K to fill in gaps 14-23, to complete the text. There is ONE phrase that you won't need to use. 
When British and American people use the word family (14) ______ the mother, father and their children. In a general social context, 'the family' is usually (15) ______ mean this nuclear family. Society in Britain and the US (16) ______ a nuclear family living in the same house and (17) ______ each other's lives. Fifty years ago, the typical family was a husband and a wife, and two or three children. The father spent all day at work and (18) ______ decisions about how the money he earned was spent. The mother stayed at home to manage the house and look after the children. Children were (19) ______ their parents. Many modern families live rather differently, and because of this some people think that the family unit is dying and society (20) ______. Many couples still get married, but others live together without (21) ______. A few years ago, couples living together usually got married when (22) ______ a family, but this happens less now. Another trend is (23) ______ married later in life and to have fewer children, so the size of the average family is shrinking.

A taken to 
B closely involved in 
C getting married 
D they often mean only 
E is being weakened
F for people to get 
G made most of the 
H which normally consists of 
I they wanted to start 
J expected to obey 
K is traditionally based on

Task 2. Read the article about 'greasy spoons'. Then complete statements 24-28 with the best ending: A, B, C, or D.
GREASE
'GREASY SPOONS' very rarely appear in guidebooks, but they are an essential part of life in the UK, especially for people living in the bigger cities. These small restaurants are so common that they often go unnoticed, but if they were removed, the country would be on its knees. In London, the capital city of the greasy spoon, there are hundreds of them, fuelling the population with bacon, egg and sausage. 
Greasy spoon cafes are so called because any cutlery that comes into contact with the food they offer is immediately coated with a sticky, greasy layer of lard. More calories can be found in a cup of tea in a good greasy spoon than in a whole meal at a normal restaurant. 
Greasy spoons are generally found slightly away from the main streets of most towns, they usually have large glass windows, a plastic sign with the name of the café – usually containing the name of the owner, e.g. Mario's, Bob's Place, Rita's Cafe – and a huge menu offering a wide variety of delights. Inside they are generally clean and functional. You'll see old wooden seats, tables covered with cracked linoleum and plain walls. Each table has on it a bottle of brown sauce, tomato ketchup and vinegar, and pots of salt and pepper.
 In a typical greasy spoon, you will find people from all walks of life. Poets, builders, hurrying businessmen, students lazing around with huge mugs of tea. Some read novels, some stare into space, and others catch up on the day's news. At weekends, there will always be large groups of friends, recovering from a night on the town. 
The meals here are dangerously unhealthy, and absolutely delicious. All kinds of fried food can be bought for incredibly low prices. The centrepiece is usually the traditional English breakfast. Although it's called a breakfast, you have to be really brave to eat it first thing in the morning, because it is huge. At least two pieces of bacon, two sizzling sausages, two fried eggs, fried mushrooms, baked beans and bread soaked in hot oil and fried. The English breakfast is full of meat and fat. If you want something less filling, there's still a lot to choose from; particular specialities are bacon or fried egg sandwiches (or, of course, bacon and egg sandwiches). There is also often a range of vegetarian sausages and burgers. Greasy spoons have some devoted followers. Typing 'greasy spoon' into an internet search engine will bring up hundreds of entries. With pictures, reviews, menus and stories, it's the next best thing to going to a greasy spoon cafe yourself. But of course, nothing can beat going to the real thing – especially on an empty stomach.
24 According to the article, greasy spoons are 
A only found in big cities.
B advertised as a tourist attraction. 
C important to many British people.
 D going to be removed from city centres. 
25 The characteristic feature of greasy spoons is that they 
A use a special type of cutlery.
 B offer a lot of dishes to choose from.
C are furnished in a sophisticated way. 
D are not very clean. 
26 People who come to greasy spoons 
A are often in a hurry. 
B come from various backgrounds. 
C usually meet friends there. 
D sometimes spend the night there. 
27 The traditional English breakfast is
 A not very cheap. 
B not very tasty. 
C served in huge portions.
 D recommended for vegetarians.
 28 The author of the article 
A is a great fan of greasy spoons.
B believes greasy spoons represent British tastes in food. 
C learned about greasy spoons on the Internet. 
D thinks they should be moved away from the main streets.

USE OF ENGLISH
Time: 30 minutes

Task 1. Read part of a Sherlock Holmes story. Choose the best option: A, B, C, or D, to fill the gaps in the text. 
A small side door (29) ______ into the whitewashed corridor from which the three bedrooms opened. We (30) ______at once to the one in which Miss Stoner was now sleeping, and in which her sister (31) ______ with her fate. It was a cosy little room, with a low (32) ______and a gaping fireplace, the style of old country houses. A brown chest of drawers stood in one corner, a narrow bed in (33) ______ , and a dressing table on the left-hand side of the window. These articles, with two small wickerwork chairs, (34) ______all the furniture in the room, save for a square of Wilton carpet in the centre. Holmes drew one of the chairs in to a corner and sat in (35) ______, while his eyes travelled round and round and up and down, taking (36) ______ every detail of the apartment. 
29 A carried
   B led
  C guided
  D took
         30 A arrived
  B entered
  C reached 
  D passed
      31  A was met
 B had met
C was meeting
D will meet
32  A floor
B ceiling
C window
D walls
     33 A other
B another
C second
D the second
     34 A made up
B lined up
C put up
D took up
        35 A silent
B silence
C quietly 
D silently
      36 A in
B on
C through
D up
Task 2. Read the text about climate change, then choose the correct form of the verbs in brackets to fill the gaps. 
Global warming may be (37) ________ (BLAME) for recent heatwaves and deadly storms. But at least our plants have been (38) ________ (ENJOY) the weather. According to a study (39) ________ (PUBLISH) last week, regional climate changes over the past two decades (40) ________ (INSPIRE) a 6% increase in plant growth around the world. Rising temperatures, increased rainfall and decreased cloud cover have all (41) ________ (PLAY) a part. The 80s and the 90s were two of the warmest decades on record and during this period the vegetation in its ecosystem (42) ________ (FLOURISH). In the Amazon, decreased cloud cover allowed more sunlight (43) ________ (REACH) plants; in India, monsoon-dependent trees (44) ________ (BENEFIT) from increased rainfall. Despite these positive effects, climate change could well (45) ________ (CAST) a shadow on plant life in the long term. Scientists argue that continued growth could disrupt fragile ecosystems that have (46) ________ (BE) in place for thousands of years.
WRITING 
[bookmark: _GoBack]Time: 40 minutes

The editors of a student magazine have asked you to write an article about friendship. They would like you to include the following: 
· what qualities make someone a good friend 
·  how friends can help each other 
· whether it is better to have a wide circle of friends or a few close friends.
Write your article in 200-250 words. Choose a good title for your article.
